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1. Which of the following statements is/are correct about the Taiping Revolution ?
i. The greatest of upheavals which has toppled the ruling class.
ii. Itlasted from 1850 to 1864, ranging over sixteen provinces and destroying more than

600 cities.
iii. 1t freed China from British domination.
A) Only i and ii B) Only iii
C) Only i and iii D) All of the above (i, ii and iii)

2. Which of the following statements is/are correct about French Revolution ?

i. The French Revolution constitutes the crowning achievement of a long economic and
social revolution that made the bourgeoisie the matter of the world.

ii. The Revolution of 1789 — 1794 marked the advent of modern society-bourgeois and
capitalist in the history of France.

iii. It brought an end to British domination in France.
A) Only iii B) Only ii
C) Onlyiandii D) None of the above (i, ii and iii)

3. Which of the following statements is/are correct about non-violence ?
i. For Gandhi, non-violence was a matter of principle.

i. For C.R. Das, Motilal Nehru, Jawaharlal Nehru, Maulana Azad, Sardar Patel and
Acharya Narendra Dev, it was a matter of policy.

iii. The adoption of non-violent forms of struggle disabled the participation of the mass
of the people.

A) Only i B) Onlyiand ii
C) All of the above (i, ii and iii) D) None of the above (i, ii and iii)

4. Which of the following statements is/are correct about the Indian National Congress ?

i. The Indian National Congress was founded in December 1885 by seventy-two political
workers.

ii. A.O.Hume, a retired English ICS Officer, played an important role in its formation.

iii. A powerful and long-lasting myth, the myth of ‘the safety valve’ has arisen around
this question.

A) Only i B) Only i
C) Only ii and iii D) All of the above (i, ii and iii)
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Only i and ii B) Only iii
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Only ii and iii D) GGev 2 sitar yemarsgib (i, ii and iii)
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5. Which of the following statements is/are correct about Kerala ?
i. In 1981, the South Indian State of Kerala was among the poorest regions in India.

ii. Inlate 1970, by average income, Kerala was in the bottom third of India’s
thirty-odd States.

iii. In 1922, per capita income in the State was 50-60 percent higher than the national

average.
A) Only i B) Only ii
C) Only ii and iii D) All of the above (i, ii and iii)

6. Which of the following statements is/are correct about the travelogues of 19" century ?
i. Londonum Pareessum by G.P. Pillai.
ii. Romayathra by Mar Thomas Kuryalassery.
iii. Randam Romayathra by Mar Thomas Kuryalassery.
A) Only i B) Only ii
C) Only ii and iii D) Onlyiand ii

7. The lower portion of the atmosphere extends upto the height of 90 km from the mean

sea level is
A) Thermosphere B) Troposphere
C) Heterosphere D) Homosphere

8. Which of the following statements is/are correct about Topographic Map ?
i. The Survey of India is responsible for producing a Topographical Map.
ii. 1:1,000,000 scale is known as a Million sheet.
iii. In the 1:50,000 scale, contour interval is 20 meter.
iv. Latitudinal and longitudinal extension of Million sheets is 1 degree x 1 degree.
A) Only ii and iii B) Onlyiandiv
C) Only i, ii and iii D) Onlyii and iv

9. Identify the correct facts about the Great Plain of North India.

i. The largest alluvial tract of the world from the mouth of the Indus to the mouth of the
Ganga.

ii. The Bhabar is a narrow belt about 8 — 16 km wide.

iii. The Terai is a marshy tract marked by the re-emergence of the streams.

iv. The Bhangar is composed of newer alluvium above the level of flood plain.

A) Onlyiand ii B) Onlyiiandii  C) Only iv D) Only i, ii and iii
A -4-
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i. G.P. erewaruiler euessti_giid LifFLb.
ii. ot gmoev & TwevdGafullesr Gumowngpgm.
iii. omt smwev GmuevdCamuiest gressr_b Grmiowindgm.
A) Only i B) Only ii
C) Only ii and iii D) Onlyiand ii
. cualloeTL_wsGeT Qs SLp LG wres Fumai sLev L Gepig 90 &.L65.
2 Wb DT HevT(heTeng)
A) GlgiGomaviJuiri B) . GurGumevifuiri
C) Gamr 19 Cgmavituwiri D) GamrGomaviuiri
. Beoligliy euewgLiL_gensgll Lupm) LI6TauBLD FpmISaiey 618 Filwnesg ?
i. Blevliugliy euenrLL g SWriLiLSD@ @)bSwTalesT Hewrd0ls B L
OummiLin@Lb.
ii. 1:1,000,000 yareyGsmed LHebeOlIcT 6T 6TesT YenLpdhBLILIBHFH DS
iii. 1:50,000 yereyCamed, srew@i Qe Gleuaflufley 20 51" L 7 @) (B GLb.
iv. heveSlwest srersanet o #Grens opmith FidsCuevs gy 1 9&iM x 1 9 &
<2, GLD.
A) Only ii and iii B) Onlyiandiv
C) Only i, ii and iii D) Only ii and iv
. o @pPwrallesr Qufw Fwbleuedl LYYl FAWTET 2 GSTENLOFEGT 6L WITETLD
ST LD.
i. Qpgiadler eumdl (Lpsed SBINS Ul auenr 2 WH 6T LASLIO LMW eIeTL_6» LiTens
2 LDHSHIGTETS].
ii. wmir etestIg) 8 — 16 KM yaseuib Olsmessi @p GmiSw GlLebL @ Lb.
iii. G _gmus eresrigy HFCyrewL_seflesr omy eT(LpFPWTD GBSHLILIL L @5 FHILIL
BlevLom@Lb.
V. umBiIsT Gleusirar Fobleual] L L $HH&H CLoeh LB GUETL 6D LDGETESITCY YcSS-
A) Onlyiand ii B) Onlyiiandii  C) Only iv D) Only i, ii and iii
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Which among the following statements is not correct ?
A) El Nino is a narrow warm current that appears off the coast of Peru.

B) The meeting place of southeast trade wind and northeast trade wind near the equator
is called ITCZ.

C) Jetstream is a band of fast-moving air found in the middle latitude at a height of about
12 km.

D) Clear sky, pleasant weather and low humidity are not the characteristic features of
the cold weather season.

Find out the wrong statement about Red loam soils of Kerala.
A) These soils do not occur in catenaries sequence along with laterite.
B) The soils red colour, is of hematite or anhydrous ferric oxides.

C) The rapid permeability of the surface soils is responsible for the characteristic
development of these loamy soils.

D) These soils found mostly in the southern parts of Thiruvananthapuram district.

Shahpur Kandi Dam Project situated at the Punjab — Jammu and Kashmir border is
located on

A) The Beas River B) The Ravi River
C) The Jhelum River D) The Chenab River

Which of the following statements is/are correct about market socialism ?
i. The term market socialism was coined by Prof. Oscar Lange.

ii. First experiment in market socialism is open door policy.

iii. India announced open door policy first.

iv. Experts consider market socialism is a political fallout of an economic
mismanagement.

A) Only i and iii B) Onlyiandiv
C) Only i, ii and iii D) Only i, iiand iv

Privatization of public sector business by selling a portion of their stock to the general
public is termed as

A) Disinvestment B) Globalization
C) Fiscal Reform D) Industrial Licensing
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Capermadlet ClFLDLOGST LIDMIW SQUDTET IMGHFeUIS SETL_PIIa Lb.

A) Qs wenser Cevl L ewgl HLer CsL_eriasafler euflenFuiley erpLiL_ng).

B) e feuriny Blwib, Hopw %0Lfé ysemF@safler Canioent L 9y @Lb.

C) CupugliLy weenfler allengeuner 2ar(p)meucd Q)bs saflLoessentlesr FpLiwevLy
QUGTIFFS G &HTIGRTLOT(GLD.

D) @weuetisLygid wmeul’ L @6 OseTLIGGsalle 9PHLD SrewiliLi(HFB DS

LIGHFTLI — @UD(LPp FTAULET 6TeVMEUING) YW LDBFIGTAT QHTLYT HERTLY. eHewT F)L L LD
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A) Only i and iii B) Onlyiandiv

C) Only i, ii and iii D) Only i, iiand iv

Oungissienm auellEs@eT g@h LGHenw OLINg bé%EhdE aNDLIGT OFUIcIS6T
ELPGULD FETLITTLOWILD TS & 6UG| GTGATLIG

A) &S L alevd @ Fev B) 2 ewssLowibrgsev

C) 5% &i®mwmssLb D) Qsmflevgemm 2 Miotb



152/24 - T

15.

16.

17.

18.

19.

20.

Which of the following statements is/are correct about repo rate ?
i. Rate of interest paid by the Commercial Banks to Reserve Bank.
ii. The meaning of the term repo is re-purchase option.
iii. Rate of interest provided to Commercial Banks by the Reserve Bank.
iv. Repo rate is usually lower than reverse repo rate.
A) Only i and iii B) Only ii and iii
C) Onlyiandiv D) Onlyiand ii

Which task force firstly proposed the idea of a nationwide GST ?

A) Kelkar Task force on indirect tax in 2000

B) Chelliah Task force on indirect tax in 2000

C) Both A) and B)
)

D) None of the above

In connection with GST, which of the following statements is/are correct ?
i. One Nation One Tax

ii. Destination Based Tax

iii. Input Tax Credit

iv. Online Compliance

A) Onlyi B) Only iand ii

C) Only i, ii and iii D) All of the above

On 11" March 2024, India signed a landmark free trade agreement with
A) NAFTA B) EFTA C) EU D) ASEAN

Which of the following writ is considered to be a protection againstillegal and arbitrary
detention of a person ?

A) Mandamus B) Habeas corpus
C) Quo Warranto D) Prohibition

Which Article in the Indian Constitution deals with Power of Parliament to legislate
with respect to a matter in the State List in the national interest ?

A) Article 251 B) Article 262
C) Article 249 D) Article 271
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i. Maie auBIFG@ euewils aunIFS6T CFasab oL 19 @aFSLb.
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61h% Lewlld@p (LpSedled Brhspali gletaviy Cuingenesenw (LpesTOmPbSS5) 2
A) 2000 @6 ewpLps eurl Lisrest CHevaT LiewsTs @ Lp

B) 2000 @)év wenpps euifl LBgmer GlFevemewm Licwild@Lp

C) A) wpmib B) @oes(hib

D) GuGev e1g10yb @)cvenev

letavry OCl&mL_iLims, L6TUIBLD FmDMISailcy 61g Filwmesg) ?
I 516 @@ il

ii. @ed@ 2y Liue ulevreT au

iii. 2 araf”® euf augey

IV. YGTENEUGHT (@)6wTs:a%sLb

A) Only i B) Onlyiandii

C) Only i, ii and iii D) GGev 2 sirar yemedgiLb

11 wmig 2024 syevimy, QBFwm 2 L G (I (LSHFBNW SeOL_WHD UTS5H
RUILIGSSF D s0lw(psFL L g).

A) NAFTA B) EFTA C) EU D) ASEAN

@B pLdT FLL aINCITSLOTesT LoHMILD ST IFeFIITET &Teuedle) eaULILIFNE 6TH TM1%H
L9esTeu(BLD 6ThG ML LIMGISTLILITSS SHSLILBGS DS ?
A) LoressTL_Loe B) Gamifwev smiLiev

C) &Ceur eumgessGL_i D) O4Gpmani ey

Casfw pevest % oaplevls Ll quwedled 2 6ter ep@h allapwidasls LpHY FLUL LD
@upmILD BTL_TEHLOGTDSBET ADEHTISWS Q)bP W TFWevenLolILF FL L LD 6Thss%
s Henguiled GpILINGS DS ?

A) 9Mey 251 B) 9fay 262

C) 9Mey 249 D) 9Mey 271
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25.

Which of the following State Government recently filed a suit in SC (under Article 131)
against the National Investigation Agency (NIA) Act, 2008 claiming that ‘Police’ and
‘Public Order’ are the State subjects and States have the ultimate authority to make
laws related to it ?

A) Maharashtra B) Bihar C) Karnataka D) Chhattisgarh

Which of the following facts are not true with regard to the Election Commission of
India ?

i. The Commission delimits the boundary of assembly and Lok Sabha
Constituencies.

ii. President and Vice President of India elections are conducted by the Election
Commission.

ii. Article 321 of the Constitution speaks about Election Commission of India to
conduct and supervise elections in India.

A) Onlyiand ii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

Which of the following languages were granted classical language status in India ?
i. Tamil

ii. Malayalam

iii. Odia

iv. Kannada

A) Onlyiand ii B) Only i, ii and iii

C) Onlyiandiv D) All of the above (i, ii, iii and iv)

Who authored the book “The Constitutional Name of India — From Earliest to Present” ?
A) Ashwaveer W. Gajbhiye B) Kancha llaiah
C) B. Shiv Rao D) Mahendra P. Singh

Who among the following are the beneficiaries of Abhayakiranam, a Social Welfare

Scheme of Social Justice Department of Kerala ?
A) Destitute widows

B) Differently abled persons
C) Transgender students

D) Children of victims of crime

-10-
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(NIA) g L_1b, 2008 & e1@uns o d& FHeipsDed (LNMeay 131 @6t Bip) aupd@s
CsThSS5I 2

A) wsmpmeug gr B) fsmi C) sipm_sm D) #gZevai

QoW Csiged gy mentdasLs OLMDSSLOL 1g6d LIeTeu(heuaTouppleh 61
2 GRTEDLOUIGVGV ?

i. Qeenwib FL' L FeoLl LHYILD LodFaTencud ClFTEGsaleT 6TevemaveniL
UTWMISF D).

ii. QBIW GYWIHS FOaUT LODMILD FIHOETS GHLYWLTHS Senevali CFa5e0H6T
Caiz60 Y enenTlGSHT60 BL_dFL1LI(H S DT,

iii. yrPweveniotier 321 eug L9Mey QpFwralled CsiFEHMaT HL_ 550D S LD
Cupumrieer CFwicugn@d QpPw Csisged yemewuseansls LpP CLEF D).

A) Onlyiand ii B) Only ii and iii

C) Only i and iii D) GGev 2 sirar gyemarsgib (i, ii and iii)

esteupd 61ps Clomflsend@ @BbHwralled Lmgbufu Owmy) oybsevg)

QUIPBISLILIL L &| ?

i. &Ll

ii. LoemewimaTLd

iii. euguwim

V. &eTesrL_Lb

A) Onlyiand ii B) Only i, ii and iii

C) Onlyiandiv D) GuGev 2 siter yemesiggiib (i, i, iii and iv)

“The Constitutional Name of India — From Earliest to Present’ eresip $s555m5

TP weuT Wi ?

A) yaveuadi W. s@9Cw B) srepar Qewemwir

C) B. Qe greis D) wGsip®y P. §mi

Cagermailest FeLps 5 H1ewDUNGT FoLps Fevd B L LTS O LILIG) TeSSTSHE) 6T LILIGSTToN % 6T
w9

A) s raupp allsemaugser

B) wmpmis @mwerraiser

C) DmprBIens Lomewreuiser

D) @pwssmed LTHSSHLILIL L ouisefet &Lphens5er
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26.

27.

28.

29.

30.

Who among the following officers is the Appellate Authority in the Kerala Women’s
Commission under Right to Information Act, 2005 ?

A) Member Secretary B) Chairperson
C) Director D) Law Officer

Where is the Institute for Watershed Development and Management, Kerala
(IWDM-K) located ?

A) Kalamassery B) Cherthala
C) Neyyattinkara D) Chadayamangalam

Which of the following hazards comes under the definition of “disasters” according
to The Disaster Management Policy, Kerala, 2010 ?

i. Hydro meteorological disasters
ii. Geologically related disasters
iii. Biologically related disasters
iv. Man-made disasters
A) Only ii, iii and iv B) Only ii and iv
C) Only i, ii and iii D) All of the above (i, ii, iii and iv)

Which of the following is a programme organised by the Kerala State Literacy Mission
(KSLM) in coastal and tribal-dominated areas in eight districts with the aim of shaping
informed and independent citizens ?

A) Pauradhwani B) Aksharasagaram

C) Vayomithram D) Thirumuttam

Which of the following statements is/are false about Kerala Planning Board ?
i. It works as an advisory board.

ii. It was formed in 1967.

iii. Itis a constitutional body.

iv. Chief Minister is its Chairperson.

A) Only ii B) Only ii and iii

C) Only iii D) Onlyi

-12-
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S5a60 YWluyLd o Meniod #1"1_1b, 2005 &1 GLp Camger LosefliT 2),eneRTILISSHG) BLpdHeuTL
9PsmiFefcy wrr Cedwpenpuil’ B HF s 2

A) o minesti QlFwevmeri B) seeveurt

C) Qusa@ert D) o' y®smi

biBleoev GotbLim® opmitb Groevmesstento Blmiauestib, Csgerm (IWDM-K) 6151Gs%
9|OLDHBHIGTATH] ?
A) saroGal B) Gaigsevr
C) Qpuiumpmmisym D) sL_unpmisevih
2010 61 GullLii Geresieniod GsmetensuieiLiy Casgeammalled “Cupyieyser 616
e gwenpuiles Sip LNeTeupLd Y LISSHIHeT) 615 UBH DS ?

i. B euneflenev Ggifleyser

i. yafluwed Glgm_iumer GLgLfeyser

iii. 2 udfwed Fmips CuiLfleyser
V. weflgerred o (Beurdsiiul L Gugifleser

A) Only ii, iii and iv B) Only ii and iv

C) Only i, ii and iii D) GuwGev 2 sitar yewesigaid (i, i, iii and iv)

Gagar waplev erpdspley@ussssred (KSLM) s_Gevry wpmith Lipmsi@ig ule
UG EHD ClFSFHIb 6T () AL L BISeaflled FHeucd LOPMILD &G b TLO TS
G LoESaT ULy aIlodGLd CBrssdgL 6T LeTeupLd HlapFRseicv 615 eImHLIT(®
Ol g o

A) Ouergseumes) B) wegonssgib

C) auGwmbsmb D) ®@wupL b

Gagerm S 1_eunflwib LpBlw LN6T60u(HLD WS FHTD 615 SUDTEIS] ?
i. 9 Cevngewend &LpeursLl LesHLITOIF DS

ii. 1967 @ev o (heundbsLILIL L g).

iil. @& @@ YTFWeeLDLIL].

IV. (LpSevauT FneeuITs (Q)BLILITT.

A) Only i B) Only ii and iii

C) Only iii D) Onlyi
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31.

32.

33.

34.

35.

36.

37.

Which of the following mechanism was introduced by the Govt. of Kerala (E-governance)
which provides citizens the opportunity to pay all taxes and other financial dues to
Government ?

A) K-BASE B) IKM C) FRIENDS D) SPARK

In which district of Kerala is the Kerala Administrative Tribunal situated ?
A) Ernakulam B) Thiruvananthapuram
C) Kozhikode D) Thrissur

Which of the following statements are correct about Kerala Administrative Tribunal ?
i. The Kerala Administrative Tribunal came into existence with effect from 26-08-2010.
ii. Registraris the Administrative Head of the Tribunal.

iii. Chairman is at the helm of affairs of the Kerala Administrative Tribunal.

iv. There are three Deputy Registrars to assist the Registrar.

A) Only ii and iii B) Only i, ii and iii

C) Only ii, iii and iv D) All of the above (i, ii, iii and iv)

In Kerala, who among the following nominates a Committee on Subordinate
Legislation ?

A) Speaker of the Assembly B) Governor
C) The Chief Minister D) None of the above

Who among the following wrote the Book “Limits to Kerala Model of Development” ?
A) K. K. George B) J. Devika
C) M. A. Oommen D) Hariharan P. V.

Which of the following district in Kerala became the first district of India with Complete
Rural Broadband Coverage ?

A) Ernakulam B) Thiruvananthapuram
C) Palakkad D) Idukki

Name the largest and smallest bone in our body.
A) Tibia and Incus B) Femur and Stapes
C) Femur and Incus D) Tibia and Stapes
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G LDSGHET YTFTBISSF DG daiss euMser wPpmib p BS LTSEFsemar
OFadgIausHaHTeT umiitieou apm@b Csgar YIFmBIsssTd (Q) 9 EHeLD)
LesraupLb 61hs auplLpedn HYB(PSLILIGSSLILIL L G ?

A) K-BASE B) IKM C) FRIENDS D) SPARK

Cagarmalles 6168 Lomaul’ L He Csgar Hlieuns SiliimuLb 9enLobsI6TeTS ?
A) eriesst@ @b B) S weusspsyuib
C) CamflsCam(h D) &ms@sit

Gager Blieuns Ficiumuih upmlw L96TaUBLD FaPdmISeNey 618 Filwmesg) ?
i. 26-08-2010 wpgev Cager flieuns SrliLmuLd peoL_(Lpewps @ UbSS.
ii. uBeunert SACILMUSHET BlieuTss FewevaugTs (@)HLILITI.
iii. seeeut Cagar Blieuns SiliLmugPer senevediols QummiLiied o erermi.
V. LIBUTaT5EE 2 F6u CLPGII SHIGHGHTLI LISUTOTTHET 2 GITaTeHTIT.

A) Only ii and iii B) Only i, ii and iii

C) Only ii, iii and iv D) GoGev 2 siter gyemesigaid (i, i, i and iv)

Cagarmailed, GLpdhasew_auisafleh wri sienewstd FL L b GBlSS Gpeweu LifbsienT
ClFIBwmiseir 2
A) FL 1L 1oedID FLMBTWIST B) seuiiesi

C) wpsweingai D) GuGev e1gayb @evemev

Lereupeuamaupmled “Limits to Kerala Model of Development” srein L$s550m5
GTUPPWIGUT Wit 9

A) K. K. ggmiigh B) J. Czalsr
C) M. A. 2. 1bipesr D) awfamgesr P. V.

Gagarmaileh 2_erar Lies160(BLD 676 LomeuL” L LD (LpLpenLowimet Sgmioliym L9gm” Grie”
sl GgegeL 65T @QBFWTa6T (LpF6 oML L DTS LDMYIL6TeNS ?

A) eriessti@ @b B) ®mpevesipgLoib
C) unewssn® D) @®s%

BLogl 2 L 60lev 2 6irer LAsLIGLMw opmib Fmlwr ereptbifesr Gl
A) wwr wppib @)ersenv B) %o wopmih evGr_riev
C) o%Lioi opmitb (Q)esrEan D) wQwm wopmib evGr_riav

-15-



152/24 - T

38. Match the following Vitamins with their deficiency diseases.

39.

40.

41.

42.

1. Vit. A i. Rickets

2. Vit. B12 ii. Scurvy

3. Vit.C iii. Night Blindness

4. Vit. D iv. Anaemia

A) 1—i,2—ii,3—iii,4—iv B) 1-ii,2—1i,3—iv, 4 —iii
C) 1—iii,2—iv,3—ii, 4 —i D) 1—iv,2—1i, 3—ii, 4 —ii

Match the diseases with their mode of causes.

1. Cholera i. Vector borne

2. Dengue ii. Water borne

3. Leptospirosis iii. Food borne

4. Hepatitis A iv. Zoonotic

A) 1-i,2—ii,3—iii,4—iv B) 1—ii,2—1i,3—iv, 4 —iii
C) 1—iii,2—iv,3—ii,4—i D) 1—iv,2—i, 3—ii, 4 —iii

Name the Scheme launched by Kerala Social Security Mission for people with autism.

A) Awaz B) Spectrum C) Subhayatra D) Sukrutham

Hypokinetic disease means

A) Disease due to low metabolic rate
B)

C) Disease due to inactivity/low level of habitual activity
D)

Disease due to hypotension

Disease due to high level of metabolic rate

Dimensions of health are
i. Physical, mental, social
ii. Emotional, spiritual, vocational
iii. Chemical, biological, physical
iv. Ecological, emotional, mental
A) iandii B) iandiii C) iiiand iv D) iiand iv
-16-
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Lesteu@pLd el L Lhleiisemar djeummlest GepLn® CrmuyL_er QLmmeSa Lb.

1. eweur’ L_1hleir A i. M&6lsL av

2. emeur 1 1hlest B12 ii. evasial

3. eau’ L 1hleir C iii. @uey @BLBSS6TenLD

4. eeur” 1 1hesr D V. @ués Crrens

A) 1-i,2—ii,3—iii,4—iv B) 1—ii,2—1i, 3—iv, 4 —iii
C) 1—iii,2—iv,3—1ii,4—1i D) 1—-iv,2—i, 3—ii, 4 —iii

Crrevw 2euPMBeT SrewTdgL 6T ClLITBSSa LD.

1. smevgm i. QeusdL_mgmed LigayLb

2. O i. M6y LigeyLb

3. GG meavICrm@ev  iii. 2 ewrey eLpevid LigeLD

4. QanueyL tgav 61 iv. @9Germigd

A) 1—i,2—ii,3—iii,4—-iv B) 1—ii,2-1i,3—iv, 4 —iii
C) 1—iii,2—iv,3—ii, 4 —i D) 1—iv,2—i, 3—ii, 4 —iii

QL9 FLD 2 GTeTeUTHE55TH CHTar FeLpsLlt LITHIHTLIL] @QuidsLb CFTL_BIFujeiTer
S L gGesr Quwengs @GmI_aLb.

A) yaumev B) evGlusL gib C) suwnggm D) #é@msLb

@an CLn® ey s Grmul 616D T6H

A) @opis auari@eng wipw alHs5s5160 eapL(pib Crmul

B) @ués 9pssib @Gempaismed epLbib Crmil

C) Qewevpp Sestenio/&H®MbS TNV LIPdHHaLpsS CIFWGLIT(H) HTIeRTLDTS
emLI(Lb Grmui

D) aeri@ens wipp aNFFD 4P H01%5 @QHLILISTD eapLIBLd CBmil

2, ConEGwSH 6T LiflLoTessTEIS 6T
i. 2.1 6V, LDGOLD, FeLpLD
ii. o ewrid®), gy eribsib, GlFmfled
iii. CouBulwev, 2 udMwed, o L 6v
V. &DDIFSHLPE, 2 ewTIFS), LoGyTLD
A) iandii B) iandiii C) iiiand iv D) iiandiv
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43.

44,

45.

46.

47.

48.

49.

Which Union Ministry organised the Technology and Bharatiya Basha Summit ?
A) Ministry of Culture

B) Ministry of Skill Development and Environment

C) Ministry of Education

D) Ministry of Science and Technology

What is ‘BioTRIG’ ?

A) Waste management technology

B) Method used for environmental conservation

C) Tank cleaning robot
)

D) Technique to remove pest from crop

Two objects are moving in circular paths having same radius and their periods are
in the ratio 1 : 2. Then their centripetal acceleration will be in the ratio

A 2:1 B) 1:2 C) 4:1 D) 1:4

Which of the following is/are incorrect statement/s ?
I. Newton’s third law of motion is applicable irrespective of the nature of the forces.
Il. Action and reaction always act on two different bodies.

[ll. The force of action and reaction cancel each other.

IV. No action can occur in the absence of a reaction.

A) Both land Il B) Only llI

C) Both lll and IV D) Only Il

A long cylindrical glass vessel has a small hole of radius ‘r’ at its bottom. The depth
to which the vessel can be lowered vertically in the deep water bath without any

water entering inside is . (Surface tension and density of water is T and p
respectively)
A) 4T/prg B) 3T/prg C) 2T/prg D) T/prg

The discovery of gravitational waves provided evidence for the existence of
A) Black hole B) Dark energy
C) Neutrinos D) White Dwarf

The Universal Gas Constant (R) has the units of

A) L/mol K B) Atm L/mol K C) J/mol K D) m°3Pa/mol K
-18-
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45.
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61h% Wellwesr gyewidsFsid CFmAlevm L L HMD LTIGW LTyt FoililienL
apur® ClFIB g 2

A) srFFTg 96®IDFFSHLD

B) @wetr CotbLim(®) opmitd FHMIFGLHED HEOHLOFFHLD

C) saval eoidasid

D) wpladwed wpHmib CFmflevm LI eLOFFHLD

‘BioTRIG’ eresiprey er6sT60m 2

A) s1fla) Guevresenio GlFmfled Bl Litb

B) #pmid@Loed Lngismiing@ uweTL®RSSLILIRILD (LpeoD
C) Qs yew Fs$sb QFuiuyd CumGuim

D) wudfeSmpps LFReWw SHMLD HIL LD

@uer®h) Qurmerser @Gy yub GClsresL el L L1 LTSHalled 5% T% 6D s
pmitb eunmleT Hrevniser 112 616rp aINFB$S5S 60 2 dirarest. 9L 1GLITE jeummles
@wwallews phSsL 6hs alFF5F 60 @)hdh@Ld ?

A 2:1 B) 1:2 C) 4:1 D) 1:4

L9616 (BEIGTEUDMIGY 615 SRUDTGT FnDm) ?
l. Ay esflesr epesipmeus @Quids aNPwiresisl, FbIHxHaller HestenLioemiL
QT LRSS TG Q)uisIELD.

Il. Qrweyid e1@iallewaruid 61L1GLITSID Q)uevsi(h) GCleuaiCauny Fermiseiey
OFwevLI(HF T 6o

. Gewed wHmib e1Fiallenasuiles #6% @eranpOwney 165 OFUIS DS
V. e1@ialewer Qevevns Bleaveuileh 61hs OlFWeILD GIPDLIL MG

A) Both | and Il B) Only IlI

C) Both lll and IV D) Only Il

BeTones o (heoaTdSEentny Ll LTSS IS 2y liuGHuied T ygb Gl mer
FPw Flewer 2_eiTars). Hit 2 TGaT BIGHLPWITLO Y LPLOTEST Hig0ISTL 19 ul6h LITSEF ISemS

ClsriGS515 @Qmbsdamigw pb _ (Copugiiyy ugppb wppih A6t oj_isE)
p@pGu T wpmid p p&Lb).
A) 4T/prg B) 3T/prg C) 2T/prg D) T/prg

yallu§itiy geevsailesr sl LiL) @& QBLILSDHETRT YSTITBISE T
QULPBIFH WG]

A) smpgimar B) @we gyppeb

C) Ay MGerrdser D) Geusirenar @eirarest (L9 mmeiso%Ls)

2 ewgarmaiw aumyy rpled) (R) ulesr ojev@ser

A) L/mol K B) Atm L/mol K C) J/mol K D) m°®Pa/mol K
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50.

51.

52.

53.

54.

55.

56.

57.

The least reactive metal among the alkaline earth metals is

A) Potassium B) Beryllium C) Calcium D) Sodium

Which of the following statement(s) is/are correct about pH ?
i. pH measures the concentration of Hydrogen ions in a solution.
ii. pH is a logarithmic scale.
iii. pH of a 0.01 M solution of hydrochloric acid is (—2).
A) Only ii and iii B) Onlyiandiii
C) Onlyiandii D) All of the above (i, ii and iii)

What is the chemical symbol for the synthetic element with atomic number 115,
named after the town where the discovery was made ?

A) FI B) Lv C) Nh D) Mc

Name the folk art form of Kerala which is also known as ‘Kaali Nadakam’.
A) Padayani B) Poorakkali C) Thira D) Mudiyettu

Which poem of Kumaran Asan celebrated its centenary in 2023 ?

A) Prarodanam B) Karuna C) Veenapoovu D) Duravastha

Who translated the Novel Aarachar into English ?
A) Bhageerathi Amma B) J. Devika
C) Asha Menon D) K.R. Meera

Which one of the following States hosted 37" National Games ?
A) Uttarakhand B) Chhattisgarh  C) Goa D) Kerala

‘Sarvamatha Sammelanam’ under the leadership of Sree Narayana Guru at Adwaitha
Ashram, Aluva was held on

A) March 3 and 4, 1924
B) March 3 and 4, 1914
C) November 1 and 2, 1918
D) November 1 and 2, 1911
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sy Lthl o Cavnsmisalled Geaphps allewars@mer Clsmessi_ o GevnsLd
A) Qur L r®uib B) QuMeSuib C) srev&Fuirb D) G#mguib

L9esteu(pLd Fpmisefev PH umm) 615 sllwnesg 2

i. @@p sewgFedled ewamL’ geesr gwesfluler Gleplemer PH yaralBHF gy

ii. pH er6trg) ewnEMsHg jereyGsme.

iii. 0.01 M sewgge ewanr CurCermild 9yLblevdPer pH (—2).
A) Only ii and iii B) Only i and iii
C) Onlyiandii D) GuGev 2 eirar yemersgb (i, ii and iii)
ey erer 115 Qe QFwpens o CGewnsg@er GouGulwed Herard s
ST (BHLIg L1y G’ 1L pasgs&est Guwgmed Qw1 &), 9% 616516 9

A) FI B) Lv C) Nh D) Mc

‘srefl BIL_SLD 6T 9e»LpdaLiLI(Rb Cagartales L (HLILDS sevevuilest OLiwen s
@DILILIL_eyLd
A) Lew_wews B) ysdasaf C) Sor D) g Qui @

@LOIGH Y FTestleit e1hsd sallang 2023 (Q)6b Hevig BIDDIET(H AILpTE6S%

OlameserL_mg uig ?

A) LpGpngesiib B) smewrt C) afemrriiLye D) gsimeuevst

QITFFT BToUde Y BFHVGH OompolLwigseur wr 2
A) ur&r% b B) J. Csadsm
C) <yapr Groesesr D) K.R. g

Lestauapid 61 Lomblevd 376ug CsFw alewerwm (B Cum 1y seer pL_SBuig) ?
A) o g usmeuTL B) ssSavsi C) Gsmeur D) Gsgerm
QSIOUT, SF@UST BFTLLSH W FIITLEHT G SevoveLoulleh ‘FiouLos
FLbGroeresd penL_OlLpma

A) omig 3 opmib 4, 1924

B) wmis 3 wpmib 4, 1914
C) meubuui 1 wopmib 2, 1918
D) meubiii 1 wopmb 2, 1911
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58.

59.

60.

61.

62.

63.

64.

65.

Who authored ‘Before Memory Fades : An Autobiography’ ?
A) Kapil Sibal B) Shashi Tharoor
C) Fathima Beevi D) Fali S. Nariman

The venue of 108" Indian Science Congress was
A) Kanpur B) Bengaluru
C) Nagpur D) Kozhikode

Which OSI layer is responsible for the encryption and decryption functions ?
A) Session Layer B) Presentation Layer

C) Transport Layer D) Network Layer

How many bits should be there in the logical address, if there are 32 segments with
each of size 1KB ?

A) 15 bits B) 12 bits C) 14 bits D) 10 bits

Which of the following is the component that uses battery power to store the
configuration details of a computer ?

A) BIOS B) RAM C) 0S D) CMOS

Who is the first woman to hold the rank of Subedar in the Indian Army ?
A) Rajeshwari Kumari B) Shreyasi Singh
C) Preeti Rajak D) Manisha Keer

Which is the fastest supercomputer in India ?
A) PARAM 8000 B) PRATYUSH
C) AIRAWAT D) PARAM Shivay

Under the provisions of The Kerala State Right to Service Act, 2012, who is
responsible for delivering the services within the specified time ?

A) The Chief Minister B) The Designated Officer
C) The Appellate Authority D) The local MLA
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‘Before Memory Fades : An Autobiography’ erip@weur wim o
A) s Fued B) 9 sepi
C) Soung@wm Lial D) o%umal) S. mrfloest

108 cugl @QBHw ypPladwcd HTEIF TV BL % @)L LD
A) smeLyi B) GLimiseens
C) prdyi D) GamflsCasm(p

srer@ Mliagest woPmib Y &fliapesr OFwebun 9nH@ e1ps OS| 9 Bs@
QuimmyiLim@Lb

A) Osapet (HSS B) LrsaiCGLapesr (H)%@
C) wyonerevGumil. y®Bd S D) QpL Geumis <Bs@

S55 (Lpseuiuiley 1TKB yjareyeirear gaibleumesifleitb 32 L9fleyser QbpSmeb, 616Hement
LI z6ir @)hdb% Caussst(bLb ?
A) 15 9 e B) 12 L9 e C) 14 LY  ser D) 10 Y e

LeteupeuasTaunmley sewflafluier &L _emioliyy allougmiseaerd Cablds Gl
FEB WL LIWGTL(BHSSILD Fnm) 615 ?

A) BIOS B) RAM C) 0S D) CMOS

@QrpHw gresieusHed HCUSTT LFaleow OLPD (LpF6OOILIGHT Wi 2
A) gnGeeveu @Lom B) awCruwins @mi
C) L% ged D) welaur &i

@ bGP wrallest Geusomest LT SO L T 618 ?
A) PARAM 8000 B) PRATYUSH
C) AIRAWAT D) PARAM Shivay

Gagar alev Gaemeu o Mevwd F1 1 1b, 2012 Qerall@safler &p, @mIal
CrrsPm @61 CFenausemar cuLpmI&eusm@ wirr Q)LmpyLiLy 9

A) wpsevenLodF B) Awibssiiuc L oS

C) Cuevpepuil’ (b 2 eewTwiLh D) 2 giresrs MLA
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66.

67.

68.

69.

70.

Which are the socio-cultural identities that explicitly included in the definition of a

transgender person in the Transgender Persons (Protection of Rights) Act, 2019 ?

A) Hijra, Kinner, Aravani, Jogta

B) Kinner, Naga, Brahmin, Aravani

C) Jogta, Kinner, Brahmin, Hijra
)

D) Aravani, Naga, Kinner, Hijra

According to the Sexual Harassment of Women at Workplace (Prevention, Prohibition
and Redressal) Act, 2013, which of the following is true about the protection provided
to employees ?

A) Protection is limited to those who are remunerated

B) Protection is provided regardless of the type of employment or payment method
C) Only employees with express employment contracts are protected
)

D) Only permanent employees are covered

According to the definition provided in the Juvenile Justice (Care and Protection of
Children) Act, 2015, what does “begging” include ?

A) Only soliciting alms in public places

B) Exposing or exhibiting sores, wounds or deformities for the purpose of obtaining
alms

C) Both soliciting or receiving alms and exposing deformities
D) Only soliciting alms on social media

Under what condition can the Central Vigilance Commission extend the investigation
period as per the provisions of the Central Vigilance Commission Act, 2003 ?

A) For any reason without recording, it in writing

B) Only for an additional period of six months with reasons recorded in writing
C) For any duration as decided by the Commission without any justification
D) Only if the Delhi Special Police Establishment requests it

In which year the Maintenance and Welfare of Parents and Senior Citizens Act was
passed ?

A) 2004 B) 2005 C) 2006 D) 2007
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Soprievsser (2 Mevwser ungsmiiy) i b, 2019 Qe @@ % @BpEIsHuler
U IweDDHUIGD QeuallliLieoL_wnsF @&ﬁa’sasl_'luL@drmaf@pg-56vnégngg/6m_wn@nila;aﬂﬁi)
6151 ?

A) adspom, Fetresri, geunesst], Gepndsm

B) @etrewii, mrsm, Qpmiblest, ojgemess

C) Cwxrsgm, Sestew, Lgmdlesr, amllgogm

D) <peunestl, pnsm, Sesresii, algham

Lenflud_gBev GlLicssa@rd @ eTpLI(BILb LITedlwed FGTLDISS (SBLIY, SeoL_ LoPMILD

Bleungewrd) L b, 201361 g, sanflwisend@ aupBIsLILIBLD LITg ST

L6 HeuesTaUDDIG) 615 2 GRTEHLD ?

A) 2ar@uih QLimLieisens@ L HCL LITSISTLIL

B) Geauemeveurdililfer auensd evevg L L 6w (Lpemenwilt OLm@pLl L(BSS Moy
LInSISTUIL] IpBISLILIBG S DS

C) ergaviigev Ceuemeveumiitiy @LiLibsnisemans Glsmenr_ sar Sluiiser ol (G
LITGIHTESLILI QG D TTH T

D) Alupbsr usslwmeriser ol ®GCw Lngsriiy OFuwliLI(®euriser

i B% (Gwpbenssaier Lgmodliny wHmb urgsmiy) s b, 2015 @)eb

upBISLILIL (BeTar euengwenpuilest Ly, “LIFaF eTRLILS 6Tend 2 6TaTL_S&H g ?

A) Qungy QL misefled L B L9FensF Casmpsed

B) L94es QLIMICUSHETS LIGTSET, SMUBISECT eV6VE &6DLIT(HEHDET
Oevafl1L(h s G560

C) Wgems Canmsed 9evavg ClLIDGE LPMILD GepLT(Hsar CleuailiLi(hsss e

D) seps 201 _smisaefleh ol G L9Fens CHmipsev

wgFw algdGleveirav sLflawest #1°1_1b, 2003 @)t al@salleir LiLg 615 BLIbSecvTulesr

G1p $Hw alg)6leveiran FLhlauer allFTenest HTvdeS HL19ds (LpLguLb ?

A) 6165 STIISFDETE LD 6T(LPSEI eLpevld LIFey OlFuiwmoed

B) erwpsautiyiaunns uGey Qi L S1IeniBisEhL 6 Fn(BlSed Y
DTS EIS @S Lol (HGLo

C) 6165 @b Bwmuptb @)eveVTLOe) SLOHGT (LpLyey OIFUIL LD 6ThS HTVSBM G LD

D) Graved Ewiiys smeucvgieon s Csmilermed oL (hGLw

QupCpmi LopmLh eSS &Ly LoSSefest LIFToALIL) LoPMILD Fevd FL L LD 6Tfhd 3, 6H5TLe 6D

BleovpCoupmLii L g9

A) 2004 B) 2005 C) 2006 D) 2007
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

1 1
Mean of a and 2 is M. Then which of the following is the mean of a® and — 7
a

A) M? -1 B) 2M® — 1 C) 3M? -1 D) 4M® — 1

Actual weight of a rice bag is 50 kg. In a hurry, it was weighted as 50.5 kg. The error
percentage is

A) 2% B) 1.5% C) 1% D) 0.5%

A printer numbers the pages of a book starting with 1 and uses 3189 digits in all.
How many pages does the book have ?

A) 1074 B) 1064 C) 1054 D) 1044

If KEDGY is coded as EKDYG, then LIGHT will be coded as
A) THGIL B) ILGTH C) ILHTG D) ILGHT

21 001 n 2999 .
The value of 21 000 B 2998 IS

A) 1 B) 3
C)5 D) None of these

If a¥=Db, b¥ = c and ¢” = a, then the value of xyz is
A) 0 B) 1
C) 2 D) None of these

If the selling price is doubled, the profit triples. Then the profit percent is
A) 300% B) 200% C) 150% D) 100%

A metal sphere of diameter 12 cm is melted to make a cone with base same as
diameter. Then the height of the cone is

A) 12cm B) 18 cm C) 24cm D) 30cm

A train runs at a speed of 90 kilometre per hour and crosses a bridge of length
150 meter in 15 seconds. Then the length of the train in meter is

A) 175 B) 200 C) 225 D) 250

The unit’s digit in the product of first 50 odd natural numbers is

A) 0 B) 1 C) 3 D) 5
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1 1
a LopmyLb 2 @ et Fgnam M. Lesreuauetalnmpled a° Lpmib —5 @6t gl e1g) 2
a

A) M? -1 B) 2M® — 1 C) 3M? -1 D) 4M?® — 1

R(H MG eLp’emi_ufet 2 evstemiowimest eTewL_ 50 GCevm YyeusFggHev, 50.5 FCevmeauns
etev Gum_Liul’ L g|. tenlp 5aI5LD eraiaiana) ?

A) 2% B) 1.5% C) 1% D) 0.5%

R AFHIOQOUTH @Rp LS555P e Lssmsmar 1-6b Qsrm&), wHmb 3189
1y et LWGSTLBHSHIBDSI. LSS5SB6 6TSSGT LIGHBISCT 2 GITCTGH 9
A) 1074 B) 1064 C) 1054 D) 1044

KEDGY ereirig EKDYG erewr @mlud_cii 1 mev, LIGHT erciiing @i ciu®ib
A) THGIL B) ILGTH C) ILHTG D) ILGHT
21001 +2999 ' .

51000 _ 998 @7 LoBIL

A) 1 B) 3
C) 5 D) @emau e1giaib @)evemev

a‘=Db, b’ = c wpmib ¢* = a erafled, Xyz @)6ir LBy
A) 0 B) 1
C) 2 D) @eas eigiab @evemev
allpLemeT alleney Q)(BLOL_BISTS @)(hHST6V, GUTLILD PLPGITM) LOL_BISTS ()(hdELD.
6T6vfleD, VMLI FHaTHLD
A) 300% B) 200% C) 150% D) 100%
12 cm &flL1b Qsrer gp 2 Covnsd Csmenid o HeSLILIL (B, 90 yerey @I L LD
Q&TGRTL_ FalbL] 2 HOUTSSLILIRBDGI. LICLITG FnlbLIGT 2 wigLh
A) 12cm B) 18 cm C) 24cm D) 30cm
@5 guiled ewfld@ 90 FCevmbL L i1 CoussFHev erg 150 511 i Herperer LTvgens
15 aflermgsafled sL_sSHng. L1GLTE, gulledest parb 511 Meb eTelauaTa) @)(Hs%E@LD
A) 175 B) 200 C) 225 D) 250
wsed 50 gpenpLivemL Qued erewisafler CLIBd@GS Cl&TenHWITED 2 (heuTewT
CTGRTEHHTET YV (9)6VHSBLD
A)O B) 1 C) 3 D) 5
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John, as well as his brother in honesty and hard work.
A) Believe B) Believes C) Believed D) Believing

Which of the following sentences contains a gerund ?
A) He is smoking a cigarette.

B) Kiran is standing outside the waiting room.

C) Swimming is a good exercise.

D) Screaming aloud, he ran out of the room.

Choose the correct sentence from the choices given below.

A) He entered the room. B) He entered into the room.
C) He entered by the room. D) He entered in the room.
If he wore a lifebuoy, he

A) Will not drown B) May not drown

C) Would not drown D) Would not have drowned

Convert the following sentence into reported speech.

Sheela asked me : “Do you believe in the essential goodness of humanity ?”

A) Sheela asked me whether | believed in the essential goodness of humanity.
B) Sheela asked me whether he believed in the essential goodness of humanity.
C) Sheela asked me that | believed in the essential goodness of humanity.

D) Sheela asked me whether | believe in the essential goodness of humanity.

Dora is a scientist who is interested in the fossil history of life.

Choose the suitable one-word expression for the parts given in italics.
A) Anthropologist B) Archaeologist C) Gynaecologist D) Palaeontologist

What is the meaning of the idiom, “kick the bucket” ?
A) To lose a game B) To die
C) To hit the target D) To curse

There was a rumour about an advancing army.
Choose the most appropriate word opposite in meaning of the word given in italics.

A) Disadvancing B) Receding C) Retreating D) Proceeding
“Any way, we have to this problem.”

Choose the appropriate phrasal verb from the choices given below.

A) Sort out B) Find out C) Seek out D) Put out

What is the expansion of “e.g.” meaning “for example” ?

A) Exempli gratuise B) Example gratui

C) Exaea gratia D) Exempli gratia
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91. ‘Geovernesr Gougld e16diny &L LIL@Lb 68 QevdHwid 618 2

A) upClwmf) prenim B) Dwps@mer C) @fs®sid D) mmevigwimi
92. @eupmyer GDOWISILD SJOVTSFH 615 2
A) epeiimy B) e C) «4® D) us
93. ‘All the glitters are not Gold’ ereirenyib LipQLoms @ @)eewrwimeTt LOLPLT LipGLomyd)
65| 9
A) er6bev1E FEISUPLD LOGHTER)IaIF VM6V B) wWiereniaublgeveumid Lhestearevevev
C) erevevmid Lheitesyb GlLmpaTeheV D) Weirenyeublgeveumib GlLimesTesTevey

94. s0ip e16dTLISET GlLITIHET 6TasTeo 2

A) @afleoiouid Briewiouyib B) @eflewioujb s&Fiiyib
C) @aflewouyid Lyefliyb D) @eflewioujib gyeuriyib
95. ‘s oenst esLiLpBleri. @& e Hig eTetieyd o MFGFTeLEGT GlLIT@heiT
wng o
A) wewib B) siieoip C) sy D) alempey

96. Guwed 81p QsLpser Qeenihgl LIDESGLD 61(LPSSHISHHET 6Tenel 2
A 3, 5 B) w, o C) s, & D) v, e

97. ‘sr’yed safly sefllwns o wreus saaGLer @@ saflmy e16TLIGET GlLiGhILIT6D
ClFmeb eTGtTGN ?

A) s B) smemev C) Csrens D) g
98. ‘Qsnewesyin’ — ereueunmy L9NS5 e1(psevTLd 2

A) Glsressigsyrmi + mimy B) eetrig + mimy

C) gqerug + <y uilgb D) eerLig + LS5

99. Qeupmyer Fflwmres unsHwg CSTL T 615 2
A) GBS RLWSI LE@ETULLD LY LIS
B) @uwiams euyetrer LeweTub eLq g

C) oLbans LTI LYeHGTUILD GaLY GOTTIT

D) @wihos @LaTTiser LieHETUjLD GLY GOTTEHT

100. Qeupmyer #51% QWEHIWIBISET GTTLILIRLIHGU TeMa ?
A) LG Qews&Hw(pLb HTLILNw(LpLb
B) £9 Q@ws&Hwpb @uL’eoL_& sriiuipLb
C)

)

D) 61" p$0smensu b LIggI LT (hLb

IO MUIGST(LPLD LD TLITIS(LPLD
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